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1. (25 points) The isotope lodine 131 is used to destroy tissue in an overactive thyroid

gland. It has g half-life of 8.04 days. If a hospital receives a shipment of ggg Mg [ -
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3. (25 points) Solve the following differential equation:

(v* — ay)dz + (zy — 1)dy = 0
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4, (25 points) Solve the following differential equation:

hot

1} (\.ﬂm\

VX

(2we® — y)dz + HA@ =£0
cmx+xmc

4lais s To:)nmﬁ\.nbﬁﬂ of
(2 Xe - vdx f X hcﬂri.zkcuuo k- ) )

= lemﬂnl C§ + gx +Nu.n?..

u Ur%@ﬁh + xdv

= (2 b =0

A e ey v = Uix
= lalxts - q%o.\a

\ N i

ozf&: - 0 ¥4C>0

g = AnlKIAC

e = isnnﬁfiuu




